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A & 0l & AF 2 E A A
20158 & S0l & LEHSI A At Z AN &
AN dot=SAFE A
A MR
CHelr MR AATE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MGt AFE & 12,239,065 12,409,465 A 170,400
Xl 1,079,000
e 11,160,065
oot 2el 1,770,089 2,722,417 A 052,328
X 1,079,000
s 691,089
AT Ald2E 1,770,089 2,722,417 A 052,328
Xl 1,079,000
s 691,089
L2AZSFANENES 638,960 471,960 167,000
Xl 350,000
s 288,960
201 Let249] 6,000 10,000 A 4,000
01 At 22/l 1,200 1,200 0
Oget=gH| 1,200
— TN, BY, BB YBL4E
20,000& = 524 = 12& 1,200
02 =224l 4,800 8,800 A 4,000
OA& &8s Xl 4,800
—SAh 2SS HFAYAMUE 2208 RIS
400,000& = 123 4,800
202 4dl 27,360 27,360 0
01 SLHOIYI 27,360 27,360 0
OLASLEAL K24 FLET
20,000& = 92 * 6Y » 123 12,960
Ool=ER= My 23 JRF2
20,000 = 122 * 5% » 123 14,400
203 YR =2t 5,600 5,600 0
03 Al =AY R =& 5,600 5,600 0
OLAZFEANE HES MY =&
200,000 * 283l 5,600
401 AIEHI L 2 CHYI 600,000 429,000 171,000
Xl 350,000
s 250,000
01 A& HI 599,280 428,280 171,000
OLARZRESAIE HEAMY
500,000,000 * 14 500,000
Xl 350,000
s 150,000
OARE=EANE RAZCAY
99,280,000 = 14 99,280
03 Al S THHI 720 720 0
OARE=EANE RXZCAY
100,000,000& * 0.72% 720




AN dot=SAFE A
A MR
Chelr AT AlE 2t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A2 =EAE S22 AY 90,129 110,457 AN 20,328
201 24l 41,869 51,337 N 9,468
01 At 2t 2l 41,869 51,337 A 9,468
O el 41,869
—A2AE2FEANE =EHAM =2 38,799
==(H==) 30,700& * 1004 = 23 614
> (H==, 249 138])
217,000& * 1000 A& 2,170
X2 (5603 2)
319,220& » 60H A + 13 19,154
FE(1HEs)
56,520& * B0 * 33 10,174
Qlaoz2 & 319,220& = 203l 6,385
H=ESISAME(THES)
30,2003 * 204 * 53] 302
—=ZZAME W= 7Y 2,300
1ele8 110,000& * 10&f Xt 1,100
42168 120,000& * 10&f &t 1,200
—AS%EF ¢ 77,0002 * 104Xt 770
307 21201 A 5,760 7,920 A 2,160
02 QAFAAFEX 5,760 7,920 A 2,160
OZ=+HclA4d sA2eldl X
60,0003 * 8IHA * 123 5,760
401 AIEHI L 2 CHYI 42,500 51,200 A 8,700
01 A& HI 42,500 51,200 A8,700
OAIZHI 42,500
—AARECANE ASELEUI X
2,700,000& * 50 A& 13,500
— NGt H3AY 2,000,000& * 1004 A& 20,000
— KXot BHEBD & =H WM AL
1,500,000& = 6IH A 9,000
HUXT S0E MBES LA 1,041,000 1,940,000 899,000
Xl 729,000
e 312,000
401 Al HIZ 201 8] 1,041,000 1,940,000 A 899,000
Xl 729,000
e 312,000
01 A& HI 1,034,500 1,927,784 A 893,284
Od&X7 sHE dEE+ HLAY
1,034,500, 000& 1,034,500
Xl 724,450
e 310,050
03 A& =TI 6,500 12,216 A5,716




AN dot=SAFE A
A MR
CHelr MR AATE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Od&X7 sHE dE8E+ HLAY
6,500,000 6,500
Xl 4,550
e 1,950
Y2 (Mot A A) 118,976 114,048 4,928
I (Aot Z AT ) 81,920 76,992 4,928
olA2HH| (Adt=ZAFE &) 81,920 76,992 4,928
101 @14 Hl 81,920 76,992 4,928
03 RIAHAZZNHE =+ 81,920 76,992 4,928
O JIsEAME(UZ) 81,920
—Jlzs 1,589,700& » 2& » 12& 38,153
—Jlgag 1,589,700& » 29 * 400% 12,718
— W Z A 120,000& » 2H » 128 2,880
— wWEs2 X 50,000& = 2H = 128 1,200
— ZE SO 500,000 = 2% « 23] 2,000
—NLRRLY
1,759,700% /243%1.5 » 45A12t = 2H * 12 11,732
!
PN =
1,589,700 /243 * 8 » 2% » 17 1,780
—42E= 76,064,000& = 0.077 5,857
— 04l 100,000& » 2H » 12& 2,400
— AU EXZSY 3,200
sstu 400,000& 2 43 3,200
Jl2 2l (Adt=S AN &) 37,056 37,056 0
Jl2Zel (Aot A A) 37,056 37,056 0
201 et 18,896 18,896 0
01 At 221l 17,896 17,896 0
Ogt=&H| 7,600,000 7,600
o=l 6,0002 * 13" » 11 » 123 10,296
02 2324l 1,000 1,000 0
Oz&22= & HA 1,000, 000& 1,000
202 04l 11,400 11,400 0
01 201 b 11,400 11,400 0
OJlege=¥ 50,000& = 19% = 123 11,400
203 YR =&l 4,960 4,960 0
02 It =2 760 760 0
O H R F= &Y 40,0003 = 199 760
04 FNSEHE=LH 4,200 4,200 0
ORN2IYR=AHI 350,000& = 12& 4,200
204 AR A H| 1,800 1,800 0




SA MG AEAIY A
HH: HNSYAH (MG LAY L)
CHel: D2 (MBI AE A A) eaad)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 Mg 1,800 1,800 0
OGS HH| 150,000& * 122 1,800
MEES(AMt=TAIEA) 10,350,000 9,573,000 777,000
HWEAHN KIS (Yot A G ) 10,350,000 9,573,000 777,000
HEAHHX S (MBI AIS L) 10,350,000 9,573,000 777,000
701 JIEtSI HEXTES 10,350,000 9,573,000 777,000
03 BIILELEIIHMNENES 10,350,000 9,573,000 777,000
OXNLBINdaCAg EEIHEES 4,520,000
—NAT 347 =i AY
1,800,000, 000& 1,800,000
— A>Tl ~22 EO ALY (L=5kn)
500,000, 000& 500,000
— A (As AE)H=22 XA (L=
.5km) 300,000,000 300,000
—AE Mags o X ANY(6002)
300,000,000 300,000
— 0l A HAXIA (L=1.0kn)
100,000, 000& 100,000
AT 24T HOAY LAEH 2
(10040t 2) 100,000, 000& 100,000
—IJZ=dE3IT =220/ AZAY
20,000, 000& 20,000
— & L2 NHAY 500,000, 000& 500,000
—CEHEI DMAMSE(4OISH)
100,000, 000& 100,000
—MAE Sas2lHl(14HSH)
400,000,000 400,000
- ESE FHAY 400,000,000 400,000
OXNgSIgot=C A SEEIHEES 5,830,000
— 0tSdt=S XA 579,000,000 579,000
—ot=2tH FHIASE 1,403,000, 000& 1,403,000
—ESZIZAE SE 2 1,600,000, 000& 1,600,000
—otx=E3A & SX2el 900,000, 000& 900,000
—Jls=dE LA 430,000,000 430,000
—ot=HMelE FUMILHE A (L)
100,000, 000& 100,000
— o=k SE22NY F=0ZA
418,000,000 418,000
—glNE2adeld A 200,000,000 200,000
— g 2AH2-EXICH2 HE2H 0l& A
200,000,000 200,000




